THOEFTAS KEHPRIGREAT

dtih X 18 (H) 28 () 3H OK) 48 (°K) 58 (&)
No. 1 INERR No. 2 INERR No. 10 INERR No. 9 INERR No. 5 INEAR
<K8R> 176| <k 8R> NG RSP EPZYY <—gh#EE> 180] < KR > 176
<&3F> 206|<43L> 206] 1 ~ 3 &4 63| <#3H> 206| < &3> 206
4~6F4% 77
KPLOBKEEREBLEVERD <IT—¥FroFiL—> <#3> 206| <8< 5E> <t&¥BE5L>
fE |72 35| =& (&) 60 H54H 0.5|F LWL+ (RS54 R) 1
K K] 0.5|<F—XALLY> I2AlzK 0.2llcA LA 7
i 3. 5| REKRA (F4) V| F—XALLY OEEBAR(TCFA) 20121F5 7
KR 10|Z=< 517 (GR—J) 1.2 TRE 0.3|EHERE (M) 2
BELEH OF) IXBOL H|<5% b 12> AL INAT LS (Ay k) 2.5
A I+3°Y & 0.25}izp5 Y 104 —Tih 1 B 5migT 5
5<bL&LIW NfLesw 1.8)iIzA1=< 0.2|BHSA—Tn%E 0.8|MEIXZ (B) 8
AHY A 0. 75|&# Y A 0.6|%&rR (81:2) 35| 02|85 ZEH (F) 5
i3 0.4|15 0.36lmo 1> MoL&s 0.01|Fb#% 3
bt 0.01]zL &5 0.03]1& 0.2|L &5 2133 <BLLSRD 2.4
B |can 0.25|iEm 26 0.6|f=F4& 15|FRHF 2| & 1
Lol 01CF(R=Z}) 415 0.08
KE—vrnithhE> <HAYHF > AyFx—= 159U % 2.5
¥ 48 0.3|zm =1t 10} 9 2001z 5 10|<FEFTOLBBITF>
R ERA CE) 15/1zA4 LA NTUH (#F) 5 i =wat=1 30
* IZA LA 10]63< ) 10FERRA—TD% 0.6|<¥a—v1> L&A 0.3
F—<> 20| FEIF 6l k—IL k=~ (AY ) V|a—ra—<Aa BIL&LSW 0.9
AHY A 0.6|1+9" Y & 1.5]1& 0.2 SALRE 0.9
L&KW 1.8]59<BL&5W 212L &S5 0.01|<CettnstntaR2y—2BH> |TAH 4
BIFEWLY) 0.5|1& 0.3 CEim 0. 55] k% 1
FUZE 1| Rk B N<Kavvrzx—7> IZALCA 5] 3.5
& 15|hy koA o — 10[C eArE 35
U4 (F5) BRI+ > TA# 0.6|f~F4& 20|E—< > 10|<ED )k AT >
Cehinrg 20|chE licA A NAr1zx4—v—=x X85 CH) 20
=83 20 r)vhOo= 5|IL& 5 0.5|x &I+ 5
hy khHhsd 0.5|<7—vBRYADLE> ERAX—TDE 0.8 0. 1|13 Y & 1.5
1+9°Y & 1.5|=v3a— %) 30|i& 0.2lCL &> 0.01|i& 0.3
FRHF I/t > (LEILEK) 2002L &S 0.01 59<KbL&LOW 2
ZEDOR 0|AYTILEY— F) 301/8k 1 0.8]<€y—> Ei B 8
S=-tHY— 2|F5ShAE 10
<Li—R>
LEVL—R 30 <t&¥EY—>
<ZILE> £1)— (t4%) 30

ROV

p.1



THOETAS KEHPRIGRERT

dtih X 8H (B) 9H () 108 (k) 118 (K) 128 (&)
No. 3 INERR No. 13 INERR No. 6 INERR No. 4 INERR No. 8 INEAR
LnKRq4 Ry > 88| < KR > 176] < KR > 176|<Y 7 FE> 180] < KR > 176
<#3> 206|<43L> 206| <43.> 206| < 43> 206| < &3> 206
<BHRADOLEVY—RA> <BTLHEAOHRM MDD > <HAYvAhHILE> <YF b bY—X> <HEBEZIZA>
£ |BR(2mEY) 50|45 4 0.5 5 %k 0.5|4 5 %' 0.5|4 5 %' 0.5
SRk E 1iIzAlz< 0.2|38H (2cmfAY]) 40]1z A1z < 0.1|28m8 (0:2) 10
INE 4L &£ 5H 0.5)IzAal=< 0.5|-FHh& 0IC1IFES 7
K 2|2 ERA CEL) BIL&LSH 0.5[IcA LA 5llcACA 10
i S5lt=-Fh & 10|15 0.08 k< ~ 15]:mi517 5
JiZ I Y 0.9|%49 BIZL &S 0.01|/h—IL kT + (AY k) 15IMATES (hy ) 1.5
5<bL&LIW 1.8|]F—<> 5| eatlNg |y, ao0F—X EHEE (#) 1
LEVET 1.8|mb s NFrRy 20|r< FE2—L 10[FLLV=1F (RS A R) 0.5
KHYA 1| 6|75 Fry T 8|1+3 Y & 0.5
<KXvXx—=—DY55> Le5W NaFasyy 0.5 ¥ARXR—Tn% 0. 6]Fb 4% 1
B |Xvx—= 15| FH % |Fa% JjJoa—u T (MXK) 0.02]L &5 2
FrARy 25| TAH 0. 7|5 ¥ 1|55 NE&EETEA ) 5
FrE—T 5 Le35W 0.7|1& 0.3
R—La—r (&) 5|I<EBE> EE7 3] 1.5]CL&S 0.01|K7SOEYEITF>
KLrysoy 6| K= 8 INEW 217> 40
* T 0.8|<F+LIL> T—HAYY 2lL £5 A 0.6
<hEHLeORE—Ta> Le5W 0.8| 2% B 1BDA A IILEIT 20| EAnk;E 1
¥ 48 0.5|AYIRH 1lxs0L 200/8E 1) 0.8|/h =% 8
-Fh&E 10| Al < 10liza A 7 X 1
NEBe (R—Z k) 0lIzA LA 8lL&S5W 1LI<EBEnEpT> HLE#H 0.2
BUOAIFAE (R—ZX ) 10|5<H 8|mbaE 0.5|%= 253 5
HFRRA—TDE 1|wb#E 0. 8| FRmkE 0.5|1& 1
B 0.25|L £ 58 12| 0.3 <Z@RDAHL—t>
L&D 0.02 <a—vxyRY> ZADELET 8
42 (GAER) 0|<FFELH> <bbhLHERDR—F> FrRyY 401 & 5 HA 40
dA—YRA—F NADELIF NEE 15k—ia—>r GH) 101|578 15
Rt 1|7E% sl &1+ NERR—Tnx 0. 1|13 Y & 1.5
T 20| A 0.5|1& 0. 1|FARKE 1.5
I+3°Y & 1.5]:% bR 2012L &S 0.02|i& 0.3
5FLLbLLIW Q0HSA—Tnk 0.8 HhL—#% 0.15
b} 0.3|53F<BLLIW 1 5F<bLLIW 2
ES5SHhAE 10|15 0.1 TAH 1
ZL&S 0.01 Z_EDONR 10
hy bhhsd 0.5
<TARIY—L>
FARYY—L 50

p.2



THOETAS KEHPRIGRHET

dtih X 168 (&) 178 (k) 188 (K) 198 (£)
No. 11 INERR No. 12 INERR No. 14 INERR No. 7 INERR INERR PR
<KER> 176| <k 8R> 176|<B/2 > 91| <KER> 176
<#3> 206|<43L> 206| <43.> 206| < 43> 206
<HEEE> <EBZEHL—> S BRAHBINIIN—YT > <BEHRODRAZZFBE>
& |¥>45m 0.5]% 5 % 0.5 5 %k 0.5|4 5 %' 0.6
IZAIZ< 0.1)IcAalz< 0.2)1=FHRE 10}IcA1=K 0.2
L&A 1fLesy 0.2\ =45 60jL &£ 5 0.5
BERA (S VFA) 20| R ERA (L) BI\rFry T 3. 2| RERA CEL 40
52EGR) 100]i& 0.2|9Rx5—v—2x 2.5|-FHhE 30
A Le5W lcL &> 0.02|mb#s 0.7|F o5 ov4 15
BEL ] t=Fh&E 0|ciam 0.4]1=% 10
FRHZ K] IS 20 s 0.5
W 0.6]% 9 BIKFYRYDYT—> AKHYA 1
SiRE 0.4 Fb v (AY) 25|95 & 0.5|L &5 3
B |& 0.2|o—y T (¥XK) 0.04|F v Ry 40| A% 0.7
BHSR—TDHE 0.6|]4ranF—XxX 4E—<> 5
TAH ERRA—-—Tnx 1k—)La—> &) 0<FrYRYDHEEH A >
1z5 WyrFyy 7 5|i& 0.2]F v Ry 35
- $:: 1|vx4—v—2 L &S 0.01IcA LA 7
* b} 0.4 R—a—> &) 7
<HIEO,ISHBIT> INE# 4<KRF FR—T> s 2
HIE (#FF) 25|v—AHY > AlIR—a > 51539 <KBL&LSW 1
B 2.5|7 L—# 0.7|f-F4& 20) B 2
BEAg#2 2L 4lizACA & 0.08
<HEHSHE> Cednrg 40
KR I<EDTY > ERR—TDE 0.8|< & d Dokt >
IZACA 8| XK= 8|i& 0.3|% 9 20
EwS5Y T|Eb e 0.8]cL &S 0.01|zDEEIT 8
r—La—> &) 6|59 <BLLSW 0.6)/3 Y 0. 8|:mi5 1+ 3
FLys oy 6|4 1) —Jidh 1.2 =B 20
f-Fh&E S5|< FBER. > (T3 Y& 1.5
<HEHDA> FE—T > S| FEEEL FRHZ 4.25
HINA (F) 55) 5 ¥ 0.6 BH& % 4.25
o) 0.2 h¥E 3
L&D 0.01
i3 2 <IhE>
Rt 0.3 BR{tE VR 5
<TL—YYRVF>
i (LALK) 20
Ay (LRILK) 20
hy bE)— (RES) 30

p.3



